Equations of Lines

For problems 1 & 2 give the equation of the line in vector form, parametric form and symmetric form.
: . . \ ) . " P a= . } P 4 . X )
1. The line through the points { Z.~%.11and {i1.4.-101. X = 2 -«a‘f. ) % P L/ +Yt ) Z2=1]~lt ((AJ)O write in /")LUZL/NLM L)
2. The line through the point {~7.2.4) and parallel to the line given by x=5-%¢, y=i+:, 7 = ~12 W= = 7 "St) \/ =24 ) 2= ‘*/‘/J{
3. Is the line through the points | 2., %1 and [ —4.1.- 3} parallel, orthogonal or neither to the line given by 7{ 1= {51-% -k ~d4:4? Wﬂ r
For problems 4 & 5 determine the intersection point of the two lines or show that they do not intersect.
4, The line given by x = 2+, y = 5+¢z, - =4~z and the line given by Fle)={-T+12.3 -1 44200

5. The line passing through the points { 1.-2.13j and { 2.7, -] and the line given by Flei= {Tede-1-2.3

"

y
6. Does the line given by x = % + 21, v= -7, = = 12~ 11 intersect the xy-plane? If so, give the point. (éj,ﬁ, ) ( i) ‘7 i O)

7. Does the line given by x =7+ 21k, v= -7, - = 12~ 11: intersect the xz-plane? If so, give the point. /7 () — () /// no 7’

Equations of Planes / h 7‘6/32/(/74

For problems | — 3 write down the equation of the plane.

1. The plane containing the points (4. -%1), (=3 ~111and {4.-2.5}. [(-/X B /-/(i }/ - 72— e QS/

2. The plane containing the point | 3.1, ~} and orthogonal to the line given by Fiey= 12— 1400440 L X 4 S; \/ + (0 2 + D] = o

3. The plane containing the point {~2.3.7) and parallel to the plane given by 4x +2y -2z =45 ‘—/ X g \/ - — =27

For problems 4 & 5 determine if the two planes are parallel, orthogonal or neither.

4. The plane given by 4 x -2y - > = = and the plane given by x + Zy =14z = ~. OY\H’I Of&«(f\/ké‘(z_
5. The plane given by —3x+ v +7- = 7 and the plane containing the points { ~Z.7%.1}, (=i 0yand (- L4530 I’WHUZ/V

For problems 6 & 7 determine where the line intersects the plane or show that it does not intersect the plane.

Xﬂle line given by #{j= {~1:.2+7:. -1~} and the plane given by 4x+%y -2 =-5.

XThelmegwenby/z,} {4+4:.~1+% 34 ¢ and the plane given by Zx— v +3z =15 Y _ ‘6 __rol(_ft) y = R /
8. Find the line of intersection of the plane given by Zx+ .y — % = -7 and the plane given by -Zx + 7y -z = 4. 71 - § 3 C

9. Determine if the line given by x = 2~ 1%, y = %, = = 5+ 1% and the plane given by lix -y~ 12 =7 are parallel, orthogonal or neither.
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